R.O.S = Rest Of Sentence

VERBb = VERB IN THE BASE FORM = NO ADDITIONS
WH NOT ON THE SUBJECT = ALWAYS TAKE THE Y/N? AND ADD THE WH IN FRONT

WH ON THE SUBJECT = ALWAYS IN 3rd PERSON SINGULAR

ALWAYS LOOKS EXACTLY LIKE THE + SENTENCE, INSTEAD OF THE SUBJECT YOU PUT THE WHO/WHAT AND COPY THE REST IN 3rd PERSON 
PRESENT SIMPLE – ACTIONS WHICH OCCUR ON A REGULAR BASIS – FROM ALWAYS TO NEVER: FREQUENTLY, SELDOM, ONCE A YEAR ETC…
DO/DOES 

	+
	SUBJECT + VERB (s, es, ies) + R.O.S
	I walk to school every day.

She writes 3 letters a week.

	-
	SUBJECT + DO/DOES NOT VERBb + R.O.S
	I do not walk to school…

She does not write 3 letters

	Y/N?
	DO/DOES + SUBJECT + VERBb + R.O.S
	Do you walk to school…?

Does she write 3 letters?

	WH
	WH + Y/N?
	When do you walk to school?
Why does she write 3 letters?

	WHO/

WHAT
	WHO/WHAT + VERB (s,es,ies) + R.O.S?
	Who walks to school?
Who writes 3 letters?


PRESENT PROGRESSIVE – ACTIONS WHICH OCCUR NOW, IN THE NEAR FUTURE, OUT OF THE ORDINARY – AT THE MOMENT, NEXT WEEK, THIS YEAR…

BE1 = AM, IS, ARE + VERBING
	+
	SUBJECT + AM/IS/ARE + VERBING + R.O.S
	I am walking to school now.
You are reading a book
She is writing 3 letters a week.

	-
	SUBJECT + AM/IS/ARE NOT VERBING + R.O.S
	I am not walking to school…
You are not reading a book
She is not writing 3 letters

	Y/N?
	AM/IS/ARE + SUBJECT + VERBING + R.O.S
	Are you walking to school…?

Are you reading a book?

Is she writing 3 letters?

	WH
	WH + Y/N?
	When am I walking to school?
Where are you reading a book?
Why is she writing 3 letters?

	WHO/

WHAT
	WHO/WHAT + IS + VERBING + R.O.S?
	Who is walking to school?

Who is reading a book?

Who is writing 3 letters?


PAST SIMPLE – ACTIONS WHICH OCCURED IN THE PAST AND ARE FINISHED. 

LAST WEEK, YESTERDAY, IN 2002 ETC…

EVERYBODY GETS THE SAME VERB BUT THE 'FOOYA' PART IS THE IRREGULAR VERBS!
	+
	SUBJECT + VERB2 (d,ed,ied) + R.O.S
	I walked to school every day.

She wrote 3 letters a week.

	-
	SUBJECT + DID NOT VERBb + R.O.S
	I did not walk to school…

She did not write 3 letters

	Y/N?
	DID + SUBJECT + VERBb + R.O.S
	Did you walk to school…?

Did she write 3 letters?

	WH
	WH + Y/N?
	When did you walk to school?

Why did she write 3 letters?

	WHO/

WHAT
	WHO/WHAT + VERB2 (d,ed,ied) + R.O.S
	Who walked to school?

Who wrote 3 letters?


PAST PROGRESSIVE – 
1. TWO ACTIONS WHICH OCCURRED IN THE PAST, ONE WAS A LONG ACTION (PAST PROGRESSIVE) THE SHORT – DISTURBED IT (V) 
a. While we were dancing, the electricity went off.
b. The teacher walked into the class room as the kids were jumping up and down.
2. TWO ACTIONS WHICH OCCURRED SIMULTANEOUSLY AND DID NOT DISTURB EACH OTHER. BOTH ARE IN PAST PROGRESSIVE. 
a. While we were talking on the phone, my dad was cooking dinner. (in a perfect world)
BE2 = WAS, WERE + VERBING
	+
	SUBJECT + WAS/WERE + VERBING + R.O.S
	I was walking to school when it started to rain.
You were  reading a book while we were watching TV.
She is writing 3 letters a week.

	-
	SUBJECT + WAS/WERE NOT VERBING + R.O.S
	I am not walking to school…
You are not reading a book
She is not writing 3 letters

	Y/N?
	WAS/WERE + SUBJECT + VERBING + R.O.S
	Are you walking to school…?

Are you reading a book?

Is she writing 3 letters?

	WH
	WH + Y/N?
	When am I walking to school?
Where are you reading a book?
Why is she writing 3 letters?

	WHO/

WHAT
	WHO/WHAT + WAS + VERBING + R.O.S?
	Who is walking to school?

Who is reading a book?

Who is writing 3 letters?


FUTURE SIMPLE – ACTIONS WHICH WILL OCCUR IN THE FUTURE. 

TOMORROW, NEXT SUNDAY, THE YEAR AFTER, IN 2020
EVERYBODY GETS THE SAME VERB
	+
	SUBJECT + WILL + Vb + R.O.S
	I will walk to school tomorrow. 

She will write 3 letters next week.

	-
	SUBJECT + WILL NOT VERBb + R.O.S
	I will not walk to school…

She will not write 3 letters

	Y/N?
	WILL + SUBJECT + VERBb + R.O.S
	Will you walk to school…?

Will she write 3 letters?

	WH
	WH + Y/N?
	When will you walk to school?

Why will she write 3 letters?

	WHO/

WHAT
	WHO/WHAT + WILL + Vb + R.O.S
	Who will walk to school?

Who will write 3 letters?


MODALS – ACTIONS WHICH CAN, COULD, MAY, MIGHT, MUST, SHOULD OCCUR
EVERYBODY GETS THE SAME VERB 
	+
	SUBJECT + MODAL + Vb + R.O.S
	I can walk to school tomorrow. 

She must write 3 letters next week.

	-
	SUBJECT + MODAL NOT VERBb + R.O.S
	I should not walk to school…

She must not write 3 letters

	Y/N?
	MODAL + SUBJECT + VERBb + R.O.S
	Could you walk to school…?

Should she write 3 letters?

	WH
	WH + Y/N?
	When can you walk to school?

Why must she write 3 letters?

	WHO/

WHAT
	WHO/WHAT + MODAL + Vb + R.O.S
	Who should walk to school?

Who could write 3 letters?


SEMI-MODALS – ACTIONS WHICH NEED TO, HAVE TO, HAS TO, HAD TO OCCUR

HE/SHE/IT ADD AN 'S' TO THE VERB 

NOTE: THE VERB GOES BACK TO Vb IN NEGATIVE AND QUESTION
	+
	SUBJECT + MODAL(S,ES,IES) TO+Vb + R.O.S
	I have to walk to school tomorrow. 

She needs to write 3 letters now.

	-
	SUBJECT + DO/DOES/DID MODAL NOT VERBb + R.O.S
	I did not have to walk to school…

She did not need to write 3 letters

	Y/N?
	DO/DOES/DID + SUBJECT+ MODAL + TO + VERBb           + R.O.S
	Did you have to walk to school?
Does she have to write  3 letters?

	WH
	WH + Y/N?
	When do you need to walk to school?

Why did she have to write 3 letters?

	WHO/

WHAT
	WHO/WHAT + MODAL(S,ES,IES)  TO + Vb + R.O.S
	Who needs to walk to school?

Who has to write 3 letters?


